Math 111 Contemporary Mathematics Name: %M
Fall 2015 Cryptdgraphy Day 7
Lecturer: Dr. Paullin

(1) Find the multlphcatwe inverse for 5 (mod 12).
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(2) Find the multiplicative inver se for 2 (mod 21).
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(3) Does 6(mod 14) have a multipiicative inverse?
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(4) Does 7 (mod 15) have a muitlphcatwe inverse?
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{58) Encrypt the followmg Word using the times cipher % x [J (mod 26)=R& given.
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(6) You need to decrypt a message using the times cipher x X O (mod 26)=®&, where
* = 3.

(a) Find *.
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(b) Use * to decrypt the word FKPPAQE.
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